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xdat=intarr (numbytex*8)
patn=[1B,2B,4B,8B,16B,32B,64B, 128B]
ipos=long(0)

for n=long(0) ,numbyte-1 do begin
wb=ia(n)
;print,wb
for i3=0,7 do begin
kk=wb and patn(i3)
if kk ne O then xdat(ipos)=1 else xdat(ipos)=-1
ipos=ipos+1
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8bits xdat=intarr(numbyte*8)
1[o[o[1]o[1]o]1] r;;ton;[lg,gz(lg),4B,8B,16B,32B,64B,128B]

l &' &' \ \ \\ for n;lqn(g(;)),numbyte-l do begin
wb=ia(n
elo] ol o) 3,

if kk ne 0 then xdat(ipos)=1 else xdat(ipos)=-1
ipos=ipos+1
endfor
endfor
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t{o[o[1]o]1]0]1]  =128+32+8+1
xdat(0)=ptable(0,169) + T
xdat(1)=ptable(1,169) ?L
xdat(7)=ptable(7,169) « 1@
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patn=[1B,2B,4B,8B, 16B,32B, 64B, 128B]
ptabl=intarr(8,256)
ipos=long(0)
for 1i=0,255 do begin



wb=byte (ii)
for i3=0,7 do begin
kk=wb and patn(i3)
if kk ne O then ptabl(i3,ii)=1 else ptabl(i3,ii)=-1
endfor
endfor
O
oooooooooo
xdat=intarr (numbyte*8)
ia=bytarr (numbyte)
ierr=-1
readu,luid,ia
if eof(luid) then goto, exithere

ierr=0

kp=indgen (numbyte)
xdat=ptabl(*,ia(kp))

exithere:
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dooooooooooooo
cortabl=bytarr(256,256)
for i=0,255 do begin
a=byte (i)
for j=0,255 do begin
b=byte(j)
c=(a xor b)
bsum=0
for k=0,7 do begin
if (c and 1B) eq O then bsum=bsum+1
c=ishft(c,-1)
endfor
cortabl(i, j)=bsum
endfor

endfor

goooooo

Pro xroscor_b,lagbyte,xdatl,xdat2,fcos,fsin,numbyte,$
cortabl,xycsum,xyssum,totcntc,totcnts
indexcl=where(fcos 1t 0.0,numcl)
indexc3=where(fcos ne 0.0,numc3)
indexsl=where(fsin 1t 0.0,nums1)
indexs3=where(fsin ne 0.0,nums3)
xdatc=xdatl
if numcl gt O then xdatc(indexcl)=(not xdatc(indexcl)) ; correspond to xdatcx(-1)
xdats=xdatl
if numsl gt O then xdats(indexsl)=(not xdats(indexsl))

ydatO=shift(xdat2,-lagbyte/2) ; initial offset

if numc3 gt O then xc=xdatc(indexc3)
if nums3 gt O then xs=xdats(indexs3)
for k=1,8 do begin ; bit shift 8 times
ydatl=ydatO
for m=1,lagbyte do begin
lag=(m-1)*8+k-1
if numc3 gt O then xycsum(lag)=xycsum(lag) $
+total(cortabl (xc,ydatl(indexc3)))
if nums3 gt O then xyssum(lag)=xyssum(lag) $
+total (cortabl(xs,ydatl(indexs3)))
ydatl=shift(ydati,1)

endfor
ydat2=(ydatO and 128B) ; 1B should be used to assure byte expression
; ;  Pick up LSB
ydat2=shift(ydat2,1) ; Shift array component right ward
ydat2=ishft(ydat2,-7) ; Shift MSB to LSB
ydatO=ishft(ydat0,1) ;  1bit shift leftward
ydatO=ydatO or ydat2
endfor



totcntc=totcntc+numc3*8.0
totcnts=totcnts+nums3%*8.0
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